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QUESTION 1

Where do calls to stdout and stderr from score.py go in a model deployment?

A. The predict log in the Oracle Cloud Infrastructure (OCI) Logging service as defined in the deployment.
B. The OCI Cloud Shell, which can be accessed from the console.

C. The file that was defined for them on the Virtual stachine (VM).

D. The OCI console.

Correct Answer: A

QUESTION 2

You have trained three different models on your data set using Oracle AutoML. You want to visualize the behavior of
each of the models, including the baseline model, on the test set. Which class should be used from the Accelerated
Data Science (ADS) SDK to visually compare the models?

A. ADS Explainer

B. ADS Evaluator

C. ADSTuner

D. EvaluationMetrics

Correct Answer: D

QUESTION 3

You realize that your model deployment is about to reach its utilization limit. What would you do to avoid the issue
before requests start to fail?

A. Update the deployment to use fewer instances.

B. Delete the deployment.

C. Reduce the load balancer bandwidth limit so that fewer requests come in.

D. Update the deployment to use a larger virtual machine (mare CPUs/memory).
E. Update the deployment to add more instances.

Correct Answer: E

QUESTION 4
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Select two reasons why it is important to rotate encryption keys when using Oracle Cloud In-frastructure (OCI) Vault to
store credentials or other secrets.?

A. Key rotation allows you to encrypt no more than five keys at a time.

B. Key rotation reduces risk if a key is ever compromised.

C. Key rotation improves encryption efficiency.

D. Periodically rotating keys make it easier to reuse key.

E. Periodically rotating keys limits the amount of data encrypted by one key version.

Correct Answer: BD

QUESTION 5

During a job run, you receive an error message that no space is left on your disk device. To solve the problem, you must
increase the size of the job storage. What would be the most effi-cient way to do this with Data Science Jobs?

A. On the job run, set the environment variable that helps increase the size of the storage.
B. Your code using too much disk space. Refactor the code to identify the problem.

C. Edit the job, change the size of the storage of your job, and start a new job run.

D. Create a new job with increased storage size and then run the job.

Correct Answer: C
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